
 

 

 

 

 

    

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



ADE- 4087-A  Page 2 of 40 

 



ADE- 4087-A  Page 3 of 40 

 

 



ADE- 4087-A  Page 4 of 40 

 

 

 

 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



ADE- 4087-A  Page 5 of 40 

 

 

 

 

 

 



ADE- 4087-A  Page 6 of 40 

 

 

 

 

 



ADE- 4087-A  Page 7 of 40 

 

 

 

 

 

 

 

 



ADE- 4087-A  Page 8 of 40 

 

 

 

 

 

 

 



ADE- 4087-A  Page 9 of 40 

 

 

 

 

 



ADE- 4087-A  Page 10 of 40 

 
 Probe 

 
 



ADE- 4087-A  Page 11 of 40 

 
 
 
  
 



ADE- 4087-A  Page 12 of 40 

 
 

 
 
 
 
 

 
 

 
 

                                                                
 

 

 

 



ADE- 4087-A  Page 13 of 40 

 

 
 

 
 

Press to lock 
the castor 



ADE- 4087-A  Page 14 of 40 

 
 
                         
  
 
           
 
 
 
 
 
 
 
 

 
     Figure 6.1 

 

 

 

 



ADE- 4087-A  Page 15 of 40 

 

 
 

 
 
  

 
 
 
 
 
 
 
 

 
 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
                                             

 
 

 
 



ADE- 4087-A  Page 16 of 40 

 
 

    
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

    

               
 
 
 
 
 
 
 
 
 
 
 
 
 
                                          



ADE- 4087-A  Page 17 of 40 

 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 

Figure 11 
 
 
 

                                        

 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 

 



ADE- 4087-A  Page 18 of 40 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 
 

 



ADE- 4087-A  Page 19 of 40 

 
 
 
 
 
 
 
 
 
 
 

 
 
                                                                                       

 
         

 
          

 
 
 
 
 
 
 
 
 
 
 
 
  

 
   

 
 

 
 



ADE- 4087-A  Page 20 of 40 

 
 

             
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 
 
 
 
 



ADE- 4087-A  Page 21 of 40 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                        

 
 
 
 
 
 
 
 
 
  
 
 

 
 
 

  



ADE- 4087-A  Page 22 of 40 

 
 
 
 
 
 

 
 
 
 

  
 

 
  
 

 
 
 

                                           
 

 
 



ADE- 4087-A  Page 23 of 40 

 
 
   

   
 

 

 



ADE- 4087-A  Page 24 of 40 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
                                       

 

 
 

     
 

 

 



ADE- 4087-A  Page 25 of 40 

 
 
 
 

 

  

 
 
 

                  
 

 
 
 

 
 
 
 



ADE- 4087-A  Page 26 of 40 

 
 
 

       
 
 
 
 

 
 
 
 
 
 
 
 

                                                  

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 



ADE- 4087-A  Page 27 of 40 

 
 

 

 
 

 
 
 
 

 



ADE- 4087-A  Page 28 of 40 

 

 
 
 
 

 
 



ADE- 4087-A  Page 29 of 40 



ADE- 4087-A  Page 30 of 40 

 

 

 

 

 
 



ADE- 4087-A  Page 31 of 40 

 

 
 

 
 
 
 
 
 
 

 
 
 
 
 

5 TOWER ROAD, LOWESTOFT, SUFFOLK, NR33 7NG, 
UNITED KIGDOM 

Tel: 44(0)1502 537135   email: info@adande.com

Approved for Production

Drawing 

Number:

Rev

UNITARY FOODSERVICE FRIDGE FREEZER

1

ADANDE REFRIGERATION

Standard Drawing Sheet ADE-01-600 Rev B

REFRIGERATION PROCESS AND 
PIPING DIAGRAM

E

07

08

07

06

TC

DT

04

03

01

02

05

OS

RC

REFRIGERATION CONTROLLER

PARTS LIST

Evaporator and Drain

Condenser and Compressor

Suction Line / Liquid 

Heat Exchange.

A IDW 08-12-05 Prelimary design for prototype evaluation and testing. EH GRY

1 IW 02-09-07 Minorm modifications to drawing format EH GY

C SG 06-02-07 Redrawn for production issue and documentation. GRY IDW

B EH 30-09-06 Optional off-cycle solenoid valve added for energy effic iency. GRY IDW

Rev By Date

Revision History
Description ApprovedChecked

Document Status

Open drawer Switch

If in Doubt - Ask

STANDARD UNITARY

Ref Part No Description
01 102929 Accumulator
02 102940 Compressor
03 102863 Condenser 
04 103008 Condenser f an
05 102930 Filter drier
06 103183 Ev aporator 
07 102508 Ev aporator Fan
08 103009 Electric Def rost Heater
TC 103063 Temperature control probe
DT 103063 Def rost termination probe
OS 102923 Open (drawer) switch
RC 103198 Ref rigeration contoller

Schraeder 
access 
valve

ADE-9600   sht 1 of 3



ADE- 4087-A  Page 32 of 40 

 

 

 

 

 



ADE- 4087-A  Page 33 of 40 

 

 
 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



ADE- 4087-A  Page 34 of 40 

 

 

 

 



ADE- 4087-A  Page 35 of 40 

 

 

 
 

 



ADE- 4087-A  Page 36 of 40 

 

 

 

 

 
 



ADE- 4087-A  Page 37 of 40 

 

 

 
Item Part No. Description    

1 104141 Panel cover top    

2 106295 
Screw hex flange head M5 x 8 

ST/ST 
   

3 103895 Worktop assembly    

      

 
 

 

 

 

 

 

 

 

 

 



ADE- 4087-A  Page 38 of 40 

 

 

Item 
Part 

No. 
Description 

Ite

m 

Part 

No. 
Description 

1 103502 
Castor swivel 125mm 

BRAKED 
6 107261 

Screw hex serrated face flange 

head M6 x 12  

2 103898 
Castor swivel 80mm braked 

plate mounting 
7 103897 

Castor fixed 80mm plate 

mounting 

3 104094 Castor shim 2mm 8 107259 
Screw hex serrated face flange 

head M8 x 25  

4 103376 
Castor swivel double wheel 

braked 
9 104547 Castor fixed 125mm 

5 104579 Fixed castor double wheel 10 107260 
Screw hex serrated face flange 

head M8 x 16  

 



ADE- 4087-A  Page 39 of 40 

 
 

 

Information requirements for professional refrigerated storage cabinets 

Model: VCC R1 

Intended use storage 

Operating temperature(s) multi-use 

Category counter 

(where applicable) 

 

 Refrigerant fluid: HFC R404A (GWP ~ 4200) 

Item Symbol Value Unit 

Annual Energy Consumption 

Energy Efficiency Index 

AEC 

EEI 

 1278 

45.9 

kWh 

 

Net volume 
 

VN 

  

68.8 
 

litre 

(where applicable) 

Chilled volume  

Frozen volume 

VNRef 

VNFrz 

 
- litre 

litre 
68.8 

Refrigerant charge 0.200 kg 

 
Contact details 

 Applied Design and Engineering Ltd. trading as:  Adande Refrigeration. 
 45 Pinbush Road, South Lowestoft Industrial Estate, Lowestoft, Suffolk.  
 NR33 7NL. United Kingdom. 

  

 



ADE- 4087-A  Page 40 of 40 

 

 

 

mailto:service@adande.com
mailto:spares@adande.com
mailto:sales@adande.com

